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Question #:1
Which feature allows a vSphere administrator to reduce power consumption on a cluster?
A. WOL
B. BMC
C. DPM
D. DNS
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Question #:2
A vSphere administrator is trying to publish a content library.
How is the Publish this content library externally option made visible in the settings?

A. Enable automatic synchronization.

B. Use a library that is not already published.
C. Select the authentication check box.

D. Choose a library that is not subscribed.

Answer-B
Question #:3

What could cause a high %RDY value?
A. Incompatible network driver
B. memory fully allocated
C. too many vCPUs configured
D. disk latency greater than 2ms
Answer: C
Question #:4
In a single cluster VM encryption scenario, which two VMs should be executed from encryption? (Choose
two.)

Platform Services Controller
vSphere Replication Appliance
VRealize Operations Manager
VMware vCenter Server
VRealize Log Insight

Answer: B D
Question #:5
A vSphere administrator is required to join all strategies ESXi hosts to an Active Directory domain for

enhanced security.
Which utility would accomplish this?

A. Unified Access Gateway

B. vSphere Update Manager

C. vSphere Authentication Proxy
D. vSphere Auto Deploy

Answer-C
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Question #:6

A vSphere administrator has a requirement to move virtual machines between vCenter Servers using vSphere
Client.

Which condition should be met for the Cross vCenter Server vMotion to succeed?



vCenter Servers must be time-synchronized
vCenter Servers should be appliances
vCenter Servers should be in different vCenter Single Sign-on domains

vCenter Servers should be on the same version
Answer: A

Explanation

References:

Question #:7

Where is vSphere Client Service health viewed?
A. VAMI
B. ESXi DCUI
C. Performance Charts
D. Host Client
Answer: D
Question #:8
A vSphere Administrator wants to convert a vCenter Server instance with an external Platform Services

Controller to an embedded Platform Services Controller instance.
Which tool should be used to accomplish this?

A. VMware vCenter Converter
B. Cloud Client Utility

C. Convergence Utility

D. Cmsso-util Utility

Answer-C
Explanation
References:
Question #:9

An administrator manages a cluster containing Production and Test VMSs. Production VMs run on a V'SS port
group and a storage array separate from the Test VMs. The administrator wants to prevent large (>500GB) file

transfers in Test from impacting Production.
Which two configuration changes should the administrator make to achieve this? (Choose two.)

A. Migrate the VSS port groups to VDS port groups.

B. Install a second virtual NIC in the Production VMs.

C. Move the Production VVMs to a resource pool with a memory reservation.
D. Enable the Test VMs to a dedicated folder with CPU shares set to low.

Answer-AB

Question #:10

An administrator decides to implement vSphere networking using the VDS.

Which binding option should the administrator use to manage the VMs if vCenter becomes unavailable?

A. static
B. port
C. ephemeral
D. dynamic

Answer-C
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